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What's the angle between 

9025

­0.4508928571

­0.4508928571

116.8009832
116.8009832

=

63.19901682
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This gives v a representation as a linear combination of i and j.

This means the set 

For this to be a basis, it has to be a minimal spanning set.
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^2+v^2­2uvcos

magnitude of the projection times a unit vector in the right 
direction.

I don't know why I 
put that in there, but 
it doesn't belong!

If the angle is greater
than 90 degrees, then
the cosine will be negative
and the projection will point
in the opposite direction
from v­bar.
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